ECS1601
SOME SUGGESTED SOLUTIONS {2015 Revlslon)

OCTORER/NOVEMBER 2014
SECTIGN A
QUESTION 1

n

{ii)

{lii)

)

Define the Gross Domestic Product (GDP) {4}
The total value of all final goods and services produced within the boundaries of a country In a
specific period of time,

Define Fiscal Policy (3)
Action taken by government In respect of government spending, taxes and borrowing In arder
ta influence the ecanomy.

What are the two main sub-accounts of the balance of payments? (2)
Current Account
FInancial Accqunt.

What are the maln sources of aconomic growth viewed from the demand slde? {3)

Increase in 2ggregata demand; increase in exports; import substitution

QIIESTION 2

@iy

Use the following diagrams to shew how the equilibrium 1n the money market changas if
the GDP intreases. Remember to fabel your dlagram. (3}

Interest Rate (1)

Quantity of money

Given a Keynesian model of an open economy, MNustrate on the following diagram the
impact of an Increase In autonomous Imports on the equilibium level ofincome. (3)

Agaregate Spending

0 ¥Yi Y Agpregataincoms

Given a Keyneslan medel of an open economy, illustrate oa the follewling diagram tha
Impact of an increase in the marginal propensity to Import on the equilibrivm tevel of
inceme, (3]

Aggregate Spending

=l

o Y1 Y  Aggregate Income

HNOTE: thls same graph could he used to represent and increase In the tax rate or a
0 cansurne] Make sure you understand why.

[iv] Use the following diagram to lfustrate the effect of 2n intrease In Intarest rates on prices
and productien in the AD-AS mode), Remember to label your diagram. {3)

Price

¥l Yo Aggregate Income

GUESTION 3
{I} Given the followlng information
In a country with a papulation of 75 millfon people there are 29 milflon children under the
age of 15 years, 26 million employed, 8 million pensi 5, B million ployed and 1
million full-time students. Calculate the wnemployment rate,
Unemploymentrate = [Ne. of unemployed + EAR] x 100
[6 + {26m + Bm+ 1m]] x 100
[6+33]x100 = 18.2% .
MNOTE: EAP refers to the economically active population. Much the same as the Labour Force
{LF}.




(i

{illy

Given the following information:
€ = 100+0.8Y
¥ = 2000
Caleulate:
+ Induced consumptlonif Y = 2000
Induced consumption = ¢¥
= 0.8[2000)
= 1600

s Consumption spending IF ¥ = 2000
Consumption sperding = 100 +0.8Y
=100 + 1600
= 1700
»  Savingsify = 2000
Derive tha saving function fram the consumption function:

5 = -100+0.2Y
= -100 +0.2[2000)
= =100 + 400
= 300
Glven the following Information:
€ =400 + 0.6Y
1= 500
Calculate:
« The multipller
as —— '
=
“T-es © 25

* The equillbrium fevel of income
Y= ala)
= Wi nﬁl +.mv

1-¢

2.5 X {400 + 500)
2250

QUESTION 4

U]

{

Explain the Impact of an Increasa in the tax rate on the equilibrivm level of Incoma in a
Keyneslan madel of an economy. (4)
\When the tax rate ingcreases disposabla income (Yd) decreases.
H holds and companies will hava less Income to spend and so aggregate spending (A}
will decrease.
Because the tax rate impacts on the marginal propensity to consume, the slope of the A
curve will change {swivel downwards).

The equiltbrium level of Income will decrease betause people are spending less.

Explain using a Keynesian model of the economy why tha decreasa in ecanomic activity in
Europe has a negative effect on the level of employment I South Africa. {5)
Europaan countries are important trading partners for Squth Africa (SA}and so a
detfine In economic activity in these countries will lead to a decrease in SA exports.

(iin}

A decrease In exports causes aggegate spending to decrease In SA and the aggregate
spending curve {A) will shift downwards.

This decrease in A will lead te a decrease in output in the economy and equilibrium
level of output (Y] will decrease.

A decrease in ¥ means that fewer people are likely to ba employed, so employment
will decrease and unemployment will Increase,

Explain how monetary policy can be used to combat demand-pul! inflation. {5)

Menetary policy
Maonetary policy refers ta the actlon taken by the central bank in respect of money
supply and interest rates with a view to influencing the economy.
If aggregate demand In an economy Increasas faster than aggregate supply, the
economy is likely to expertence demand-pull inflation.
One of the ways to try and combat such inflation is to detrease aggregate demand.
Contractionaryfrestrictive monetary policy can be vsad to try and achieve this, Thls
is done by increasing the interest rate.
The increase in the Tnterest rate will help to “cool down” the econarmy, People will
be less [lkely to harrow meney sc the expansion of credit will slow down. Peopla
will spend less and the message will be dalivared that prices are too high and
spending should slow down giving aggregate supply a chance to cateh up.
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QUESTION 1

0

0]

H

Define the Gross Domaestic Praduct (GOP) (3]
The: total value of all final goods and services produced within the boundaries of a countryin a
spegific perlod of thme,

Mame the threa criterla far a good tax, (3)
Meutrallty; Equity; Administrative simplicity

What are the two maln sub-accounts of the balanca of payments? (2]
Current Atcount
Financial Account



QUESTION 3
QUESTION 2 {l}  Gabriel's dispesable income increases fram R2 000 ta #2 500. As a result the saving
(i} Usethe following diagram ta show how the equilibrium in the money market changes if the Increases from R300 to k450, Caleulate his margina! propensity te consume, (3}
tevel of income in the economy decreases. Remember to label your diagram. (3}

Marginal Propensity to consume = AC/AY OR 1-mps

&Y = R2500 - RZ000 = R500

AS = RASQ—R300 = R15G

mps = ASfAY = 150/500 = 0.3

mpt = 1=-03 =07

Interast Rate fi)

{ii}  Given the following information. [it seems UNISA has taken these longer calculatlons out of
the syllbus for 20:15]
C = 100 +Bf9vd

=200
Quantity of money “m |n h 50
X = 200
Z = 150+ 1/8Y
i) Usethe following diag to illustrata the effect of a decrease In proportional Income tax
on the equilibrium level of income in a simple Xeynesian model of a closed economy. Calculate {Show all your calculations):
Remamber to label your diageam. {3) «  The size of the multipiler {2}
!
as —y5— 3 = 2
Aggregate Spending =Y =l

Al
« The nn_c_ﬂ_cq_m:.. level of income {3)
¥ = a{A}

= 2 {100+ 200 + 150+ 200 - 159)
= 2 x 500
= 1000

+  The value of induced imports at the equilibriium level of income. (2]

] ¥ YL Aggregata income mY = £ x 1000 =166.67
. QUESTION 4
fiii} Use the following dlagram to |Mustrate the effect of a detrease in productivity on prices and (i  Explain the effect of a strong South Afrlean rand on the demand for fruit pickers in the
preduction in the AD-AS model. Remember to label your diagram., (3} Western Cape. {4)

A strong rand means that the rand has appreciated against other currencles. When this
happens exports become relatively more expensive on the International markets and paople
Price will buy tess of South Africa’s products. The demand for exported frult from the Western Cape
Is lkely to decrease and this willimpact negatively on the frult pickers as they will have less
work and possibly lower wages.

]
P
fli}  The table below shows the GDP at current prices of country A for the years 1and 2
YEAR GDP at current prices
H 1 100
0 ' 2 110

Y1 Y Aggregate Income




i

(iv}

(v}

Given the Information in the table, explain why It Is Impossible to tell whether the 10%
inzrease in GOP from year 1 to year 2 represents economlc growth, (3}

GDP at current pricas includes the effects of rises in prices. Far this reason It ks not possible ta
tell whether the increase in GDP is from an increase In price or an increase in production for
the specific perfod. 1n order to identify an Increase in actuzl production, It Is nacessary to
ad[ust GDP at current prices to GEP at constant prices [real GDP).

Explain the effect of a detrease in the marginal prapensity to impart an the size of the
multipller. (3)

When Inceme increases in an open economy, a portion of that income s spent on imports.
This is called the marginal propensity to import {ar). If m decreases then it means that maore
of the increase In any Income will be spent in Seuth Africa and therefore the multiplier will
ncrease. [Multiplier = 1/{1 —¢{1—1] + m} so if m decreases then the multipller will increase]

Explaln the impact of an Increase In the tax rata on the equilibrium level of income in a
Keynesian model of an economy. [4)

An Increase in the tax rate will reduce disposable Income and therefore aggregate spending
will decrease.  As a result of the decrease in aggregate spending, the equilibrivm Jevel of
income will decrease. Inthe Keynasizn model this would be illustrates by a downward swive]
ofthe A line and a leftward movement of equillbrium income (¥} along the output axis.

Oefine monetary policy and explain how it ¢an be used to combat demand-pull infation {8)
Monetary policy can be defined as measures taken by the monetary authorities to influence
the quantity of money or the rate of interest with a vlew to achieving stable pricas, full
employment and economic growth. When the SARB Increases the interest rate, it Is using
contractionary monetary policy to decrease the money supply in the economy and
consequently the demand for credit. This, in turn, will lead to 2 decreasa in aggregate
demand (AD} and a leftward shift of the AD curve in the AD-AS model. As 3 result the general
price level will decraase as will the lavel of output,
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SECTION A

QUESTION 1

Name the three flows associated with the government in the circular flow model. {3}
Government spending; Taxation; Transfer payments

Name the four lags assodated with the impl tatlen of m y policy. (3)
Recognition lag; decislon lag; Implementation lag; impact lag.

QUESTION 2

(i

lllustrate on the following diagram how the imposition of an exclse tax affects the equtlibrlum
price and quantity of cigarettes. Remember te label your diagram. {3] [NB: OLD SYLLABLS -
this sectlon is not included in tha 2015 sylfabus]

You are the chlef ecencinic advisor for the government of Mahala, Mahala is experlencing
demand-pull inAation despite the stated objective of the government to achieve price
stability. Exglaln, with the atd of the following diagram, what steps the government of
Mahala should take to achieve this oblective [9)

- Cearly Indicate on the diagram any changes to aggregate demand or aggregate supply,
prices and production that might result from the actions taken by the government, The
diagram counts three (3} marks.

= Inyaour explanation you must deal with the following:

The instruments of fiseal pollcy, how they are applled and what effects they hava,
Your explanation counts shx marks.

Price Level AS

Pl |-

P2 -

P [prermmnmmes

Yo Y1 Y2
Total Income

EXPLANATION:
Fisca! paliey refers to the policy of 2 government in respect of governmant spending, taxes
and borrowing In order to influence the economic activity.

The budget is the main tnstrement while the variables of fiscal policy are government
spending and tax rates. If the government wishes to reduce inflatlon 1t would use
contractionary (restrictive} fiscal pollcy and could decrease government spending andfor
Increase taxes. In both cases this would lead to a decrease In the general price level but also
adecrease in thelevel of output/GDP {Y]. In the above graph the inflation was the result of
alarge Increase In aggregate demand (AD to AD1) without an increase In aggregata supply



(A5}, The use of contractionary fiscal palicy would cause AD to degrease and the AD curve
would shift to the left (AD1 to AD2). Yhe price level decreases from PL to P2. Thereis,
however, a problem because the level of income also decreases from Y2 to Y1,

{1y Given a Keyneslan madel of an open economy, illustrate on the fellowing diagram the
impact of an in¢rease in autonomous Imports on the equlibrivm fevet of income.
Remember to kabel your diagram. {3}

Draw the Keynasian model showlng a DOWNWARD shift of the aggregate spending
curve (A decreases). As aresult the equillbrium level of Income {¥) will alsa
decrease,

QUESTION 3
Gluen the following Informatlon
. € = 400 +5/16¥d
| = 500
G =1280
t=1/3
X=900
=600+ 1f10Y
Full-employment tevel of income = 5510
NOTE: These longer ¢calculations appear tohave been taken out of the 2015 syllfabus,

{i} the marginal propensity to save
The marginal prepensity to save = I —mpe
= 1-9/10 = 1f100r 0.1

{1 the multiptler
1

0 _.. T = 2 B
l IH+|
1 Mo

(i) the equilibrlum level of Income
Y = c(A)
2% (400 + 500 +1280 + 900 ~ 600)
22480
= 4980

1=eli=r1m

(iv) the increase in exports required to move the economy to full employment leval of Income,

= H.n = u“_nm...ae = 275 (increase in exports)

QUESTION 4

(i) Explain the difference between nominal GOP and real GDP. {2)
Nominal GDP Is gross domestic product measured at current prices. It includes price
increases and cannot be used ta measure economlc growth.
Real GOP is adjusted to remove the efferts of price increases by using the prices
fram a base year, Changes in real GOP are used to measure economic growth.

i} Discuss how an increase In the dollar price of gold will affect the valve of the rand on the
South African foreign exchange market. (4}

i}

{v)

The price of gold is expressed in dollars, When South Africa sells gold internationally
it is paid in US dollars, As a result when the price of price increases more dollars will
flow into South Africa, that is the supply of US$ will increase. This will result In the
price of the US4 in rands deceeasing and the rand appreciates against the USS.

What are the daterminants of induced consumption in the Keynesian medel of an open
er ywithag secter? (4]
Induced consumption refers to that part of consumption that is dependent on
income. In an economy with a government sector induced consumption would be
expressed as cf1 -t} Y. The deteminants are therefore the marginal propensity fc)
to consume; the tax rate {t] and the leve! of gutput/income [¥].

Briefly explain why a dacrease in the interest rate would lead to an inerease in the income
level of the AD-A3 model, Comment on the factors which have an influance on the size of
the increase in income. (5)

Adecrease in the interest rate will lead te an increase In investment spending in the
economy. As a result aggregate demand [AD) will increase and the AD curve will
shift to the rIght. Tha fevel of income [¥} will increase but so will the ganeral prite
Tevel. Generally the impact on Y will depend on the elasticities of the AD and AS
curves. For example if the AS curve is refatively flat, an increase tn AD wilk result in a
relatively large increase in Y with a fairly small Increase in P.

Briefiy distuss the policy dilervma In an open ecanomy. (5}
Policymakers are faced with a number of different cholees and objectives which glve
rise to a dilamma. They have to consider the Inflationary effects of any steps taken
to increase tha level of cutput in the economy. In an open ecanomy this s further
complicated by exports and imperts. [Lis very seldom that the level of income which
secures 2 balanced balance of payments (¥a) Is the same as the level of full
employment of ail factars of production (Yf). The dilemma is that when policies are
implemented to increase economic growth (a move towards ¥F) thay are lkely to
lead {5 a worsening of the trade balance (2 movement away from Ya).

SECTION®:  MCGs for MAY/JUNE 2012
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